SOLUTIONS®

FOR YOUR QUALITY DEPARTMENT www.pmargage.com 800-528-9785
American Modular Tooling Kit AMT-10017 List Pricé0$70

AMT-10017 Fixturing Kit, 229 pieces, System 2kidas:

Part Nr. Description Qty Part Nr. Description Qty Part Nr. Description Qty
AMT-11035 Grid Plate 25x250x300mm 1 AMT-15258| Vee 90° 35x30mm 1 AMT-10040 Storage Case with Drawers 1
AMT-11018|  Grid Plate 25x150x200mm 2 AMT-15259| Vee 60° 35x30mm 1 AMT-17112] Ret. Bolt Combi 12.5x30, M6 10
AMT-19214| 25x50x250mm Hollow 2 AMT-15340| Ball Joint 30mm 2 AMT-10060, Wrench 15mm/30mm, Univ/ 1
AMT-21106| 25x25x50mm Solid Bar 2 AMT-15235| Cone 90° 35x30mm 2 AMT-10053 Screwdriver, Univ. 1
AMT-21107| 25x25x75mm, Solid Bar 2 AMT-15077| Base 30x20x15mm M24 2 AMT-10052| Spanner Tool 25/40, Univ. 1
AMT-21108| 25x25x100mm, Solid Bar 2 AMT-15065| Riser 25x15mm M8 5 AMT-17171] Centering Disc 24x12.5, M6 20
AMT-21109| 25x25x125mm , Solid Bar 2 AMT-15020| Cone 10x15mm 2 AMT-16014] Clamp Stud 130mm 5
AMT-11531] Prism Blck, 120° 25x50x56.25 2 AMT-15077| Base 30 x 20x15mm M24 3 AMT-16005/ Finger Clamp 105mm 5
AMT-17133| Lock for Ret. Bolt, 25mm 40 AMT-15065| Riser 25x15mm M8 3  AMT-17148, End Cap 25x50mm 4
AMT-17113|  Ret. Bolt, Dbl, 12.5mm 20 AMT-15010| SPC Locator 1/2” 3 AMT-15214] Riser 25x30mm 4
AMT-17112|  Ret. Bolt, Combi, 12.5x30mm 6 AMT-16023| Stud Holder 30mm 6 AMT-15216 Riser 50x30mm 4
AMT-17172|  Disc Bolt w/ Shidr, 12.5 M24 6 AMT-11560| Vee Blck 120° 25x50x150mm 2 AMT-15218 Riser 100x30mm 4
AMT-15200| StackJack® 38-50x30 M24 4 AMT-11505| Off-Grid Block 25mm 2 AMT-16020 Stud Holder 15mm 6
AMT-16046| KantTwist® Clamp, 3/4”, Ball 1 AMT-17174 Off-Grid Disc Ret. Bolt M24 2 AMT-15047| Indicator Hldr .375x20x15 3
AMT-16004| Finger Clamp 60mm 5 AMT-17120| Nut Single M6 3 AMT-15050 Indicator Hidr 20x15mm M8 3
AMT-16012| Clamp Stud 60mm 5 AMT-17118 Off-Grid Ret. Bolt 12.5mm 2 AMT-15320| Rotary Element 30mm 4
AMT-16048| KantTwist® Clamp, 2", Ball 1 AMT-15357| Rare Earth Magnet 30, M24 2 AMT-15064| Riser 20x15mm M8 4
AMT-17172| Disc Bolt w/ Shidr 12.5 M24 1 AMT-15340| Ball Joint 30mm 2

Paul W. Marino Gages, Inc.

21300 MacArthur Blvd.

Warren, Michigan

48089-3020

Phone 586-759-2400

Fax 586-759-2423

E-mail pwminc@covad.net




